STIRLING TUITION
SEAG

Entrance Assessment

=

STIRLING TUI|ITION

WWW.STIRLINGT UITION.COM

Practice Paper 10

(Cut Answer Sheet from Back Page)



English — Practice Test

In this question there is either one punctuation mistake or no punctuation mistake. Find the group
of words with the mistake in it and mark its letter on your answer sheet. If there is no mistake,
mark N.

P 1 The film is showing at one o’clock/t ree o'clock and five o’clock on Saturday afternoon.

v 1 & A : A : f

In this question you have to choose the best word to complete the sentence, so that it makes sense and is
written in correct English. Choose the best answer and mark its letter on your answer sheet.

P2 Grandma always has lots of tasty

treats| |treat| | hugs | [ happiness| [treatment] for us when we visit.
A B C D E

In this question there is either one spelling mistake or no spelling mistake. Find the group of
words with the mistake in it and mark its letter on your answer sheet. If there is no mistake, mark
N.

nursery
P 3 We are extremely lucky to have many good 1@- chools nearby in our local area.

L& & M e R =
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Read this passage to yourself.

Extract from: The Selfish_Giant by Oscar Wilde

He saw a most wonderfui ES|ght. Through a little in the wall the children had crept in,
and they were sitting in the bran every tree that he could see there was
a little child. And the Trees were so glad to have the children back again that they had

covered themselves with blossoms, and were waving their arms gently above the children's
heads. The birds were flying about and twittering with delight, and the flowers were looking
up through the green grass and laughing.

Answer this question. Choose one answer from the options below and mark its letter on your
answer sheet.

P4 Which of the following is true about the children?

A They climbed over the garden wall.
They are covered in blossoms.
@They are sitting in the trees.
They are laughing.
E They are waving their arms gently.

For this question, you have to write your answer in the box provided on your answer sheet (box
P5).

P 5 Which one word from the passage means the same as “amazing”?
—

Wﬂmle r ‘ |

END OF ENGLISH PRACTICE TEST
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Maths - Practice Test

P6

P7

o e s A

|[L=icoomi

Max is going to a party. The host has asked everyone to bring 750ml of lemonade
with them to drink. There is going to be seven people in total at the party.

How many litres of lemonade will be at the party in total?

A 750ml C 0.75L D 7L E 5250L

Toby plays rugby for his local under 11’s and is the kicker. Over six games he

records the number of points he scores in each game. Below are his scores.

9 12 14 13

What is the range of his scores? / 6 — $= g

A 25 B 7 D 16 E 12
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=13

P 8 12 22\ 39
What is the product of the 1st and 3rd multiple of 13? ‘Tr;'
34 0

A 13 B 313 C 52 D 39 SO?-

For these questions you have to write your answers in the boxes provided on your answer sheet
(box P9 and P10). The units of measurement have been given.

P9 Look below at the straight line. L(, P
+ 3 2
=+ A4
+
| &0
o - 79Q
\ X
A\ 32 (o |

What is the size of angle x?

P 1 0 Look at the sequence below:

What shape is going to be next in the sequence? ‘ Tf{ A nj ’e_ j

END OF MATHS PRACTICE TEST
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English — Main Test

In this exercise there are some mistakes with punctuation or use of capital letters. On each
numbered line there is either one mistake or no mistake. Find the group of words with the
mistake in it and mark its letter on your answer sheet. If there is no mistake, mark N.

Punctuation Exercise

1 “Could you repeat that plea@ she said. “| couldn’t hear you over the noise of the bus.”

e ot M@ 9% = H b f

2 We were hoping to have a picnic on Saturday but it does@look likely due to the weather.

L~ =& #N ® N o f

3 The driv@o was going far too fast) was stopped by the traffic police.

p & f & m B &

4 Mrs Jones has been teaching at Clifton Primar)@’uool for over thirty years.

A VL S « W O & WL I

5 “Please can we go home?” the children wailed. “It's far too cold, wet and windy for a walk.”

s ° M.« M f

[n]
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In this exercise you have to choose the best word, or group of words, to complete each
numbered line so that the passage makes sense and is written in correct English. Choose the best
answer and mark its letter on your answer sheet.

Grammar Exercise

6 Please put on aprons and roll [in] Jup] [over ] [under]

A B \C D E

your sleeves before you start painting.

Y
7 He is the only person [whom| |whose | [what]| [which | [fwh
A B C D E

o

can solve this problem.

8 She has( been living [lives] [live] [living] [to live |
\_,A_“ B ¢ 0D E

in France since December 2018.

9 The concert was a success and the choir sang so

/P"'\_'\
[ nice | | good | [sweet | (| sweetly \[ sugary | .
A B C D E

1 O | Despite | { Even thoughY [Whether]| [However] [So that]
A \E/ ¢ D E

they took an umbrella, they still got soaked in the rain.
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In this exercise there are some spelling mistakes. On each numbered line there is either one
mistake or no mistake. Find the group of words with the mistake in it and mark its letter on your
answer sheet. If there is no mistake, mark N.

Spelling Exercise

poss ble

—

1 1 It won’t be easy, but it will be posible to fit all the luggage in the boot of my car.

L - R O . S T S T

g é—at‘amef\ (:

1 2 The witness gave a full statment about the burglary to the police officers at the scene.

L SR O R . S L R

1 3 After he apologised, Jen forgave him and they decided to try to forget all about it.
i = 1 & f 7‘

Ctmbv\lﬂ-ac =
1 4 | put my coat around the elderly man’s shoulders, while my friend called an amblance.

S« U & % & 9

1 5 We had to walk all the way home because niether of us had enough money for a taxi.

L . mn © M i
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Read the whole passage carefully, then answer the questions that follow.

Extract from: The Selfish Giant by Oscar Wilde

1. Every afternoon, as they were coming from s&:’éol, the children used to go and pla@@

, with soft green grass. Here and there @
3. the grass stood beautiful floweqséhke stars, and there were twelve peach-treﬁ fhat in the

2. the Giant's garden. It was a large lovely garde

A —

4. spring-time broke out into g?licate blossoms of pink and pearl, and in the aufimn bore

5. rich fruit. The birds sat e trees and sang so sweetly that the children used to stop

6. their games in ordeen to them. "How happy we are here!" they cried to each other.

7. One day the Giant came back. He had been to visit his friend the Cornish ogre, and had
8. stayed with him for seven years. After the (@n years were over he had said all that he

9. had to say, for his conversation was limited,

= —

d he determined to return to his own

10. castle. When he arrived he saw the children playing in the garden.

11. "What are you doing here?" he cried in a very gruff yqice, and the children ran away.

12. "My own garden is my own garden," said the Giant; "any one can understand that, and |
13. will allow nobody to play in it but myself."

14. So he built a high wall all round it, and put up a notice-board.

15. TRESPASSERS WILL BE PROSECUTED

16. He was a very selfish Giant.

17. The poor children had now nowhere to play. They tried to play on the road, but the road
18. was very dusty and full of hard stones, and they did not like it. They used to wander

19. round the high wall when their lessons were over, and talk about the beautiful garden
20. inside. "How happy we were there," they said to each other.

(19

21. Then the Spring cam_%@@ all over the country there were little blossoms and little birds.

22. Only in the garden of the Selfish Giant it was still winter. The birds did not care to sing in

23. it as there were no children~and the trees forgot to blSSsom. Once a beautiful flower put its

24. head out from the grass, but when it saw the notice-board it was so sorry for the

25. children that it slipped back into the ground again, and went off to sleep. The only people
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26. who were pleased were the Snow and tht. "Spring has forgotten this garden," they

27. cried, "so we will live here all the year round." The Snow covered up the grass with her

— ml

28. great white cloak, and the Frost painted all the trees silver. Then they invited the North

29. Wind to stay with them, and he came. He was wrapped in furs, and he roared all day

s0. about the garden, and blew the chimney-pots down. "This is a delightfut," he said,
31, "we must ask the Hail on a visit." So the Hail came. Every day for three hours he rattled
32. on the roof of the castle till he broke most of the slates, and then he ran round and round

33. the garden as fast as he could go. He was dressed in grey, and his breath was like ice.

34. "l cannot understand why the Spring is so late in coming," said the Selfish Giant, as he
35. sat at the window and looked out at his cold white garden; "I hope there will be a change
36. in the weather." 0
s7. But the Spring never came, nor the Summer. The Autumn gave golden fruit to every
3s. garden, but to the Giant's garden she gave none.

39. "He is too selfish," she said. So it was always Winter there, and the North @ and the

40.@nd the@ and the(Snow danced about through the trees. @
S
&
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Please answer these questions. (Look at the passage again if you need to.) You should
choose the best answer and mark its letter on your answer sheet.

16

17

18

19

Look at lines 1 — 5. Which of these statements is true about the garden?

A ltis the children’s garden.

B Itis a quiet garden.

C The garden is in a park.

D_ There are apple trees in the garden
It is large and beautiful.

“he had said all that he had to say, for his conversation was limited”
(lines 8 — 9) What does this suggest about the Giant?

A He loves to talk.

He doesn’'t have much to say.

C He doesn't like the ogre.
D He misses his home.
E He can't speak.

Read lines 17 — 20. What does this suggest about the children?

A They don’t go to school.

B They like playing on the road.

C They like to climb the all.

D_ They are happy that school is finished.
They miss playing in the garden.

Look at lines 21 — 25. What does this suggest about the garden?

A The garden is dead.
B The garden is forgetful.

The garden hates Spring.

Spring won'’t come to the garden because the children aren’t there.
E The garden is glad that the children aren't there.

Page 11
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2 0 “The only people who were pleased were the Snow and the Frost”
(lines 25 — 26) Why were the Snow and the Frost pleased?

A They like the Giant.
B_ They don't like the children
They can stay in the garden all year.
D They don't like the Spring.
E They don't like the flowers.

2 1 “and the snow danced through the trees.” (line 40)
Which literary technique is being used in this line?

@ personification
B alliteration

C onomatopoeia
D metaphor

E simile

2 2 If there was a moral to this story, what would it be?

A There will be consequences if you go into other people’s gardens.
B_ There will be consequences if you go into a giant’s garden.
There will be consequences if you are selfish.
D Never try to predict the weather.
E If you build a wall, then your garden will die.

For these questions you have to write your answers, neatly, in the boxes provided on your
answer sheet.

2 3 How many different types of weather are mentioned in the story?

lf— — Snow, FF‘OS(:‘/ wfno‘\/“'\a\* l‘l

24 What kind of fruit trees grow in the Giant’s garden?

[E’.adn é‘:‘ee \

—
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25

26

27

28

Which word in line 11 means the same as “grumpy”?

Gradf

Which word in line 30 means the same as “lovely”?
z De_ l;iah('fj‘u‘ i

Which part of speech is “change” as it appears in the passage? (line 35)

Which one part of speech are the following as they appear in the passage?

in (line 1) over (line 2) on (line 5) to (line 6)

[Pre Fosf{zl‘on..(
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Maths — Main Test

29

Derek is in a shop and sees that it costs £1.40 for 100 grams of cheese at the deli

counter. He needs to buy 375 grams of cheese. Flwo = (69 g

oo . 35y = 254
2 3 How much is this going to cost Derek?

o= 3009

B £3.75 C £2.75 D £1.40 E £4.20

'38
i o35
£7105= 35, G T«

As Jacky is running down the street to catch the bus, she sees it drive off in the

distance. The time now is 15:07. She will have to wait another 2 hours and_5_§
minutes till the next bus comes.

What time will the next bus arrive?

A 12:09pm B 3:07pm D 407pm  E 5:58pm

Page 14 Please go onto the next page >>>
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é 230@ o

Sam is posting four parcels. There are two big parcels and two small parcels. The
big parcels weigh twice as much as the small parcels. In total the parcels weigh 3kg.

What is the weight in grams of one of the small parcels? l lcj CI'OOO3

A 1Kg B 750g C 1.5kg D 500g E 1000g

3 2 Look at the equation below: ‘ '
2 (0273

o
Ax 15 =165 1811 & = 1&g

What is the value of A?

A 5 B 2475 C 15 D 1650 @
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33

34

€5

- % o 1L

L-‘c } 2.
It is Monday in Newtownards and the temperature is 12°C.

-
The weather forecast explains that it will be getting colder over the next 4 days
The temperature drops to -8°C on Friday.

By how many degrees on average did the temperature drop each day over the
four days?

A 20°C C 4°C D 8°C E 48°C

In normal circumstances 686 pupils attend Barney’s school. There is a snow blizzard

and 3/7 of the pupils cannot make it in due to the SNow.

How many pupils make it into school?; . "_"‘ "'[' 4 é& 67

|

3‘1 2,
A 98 C 437 D 294 E 686 _?_(E%EP—

Michael and his family are flying to Portugal on a holiday. Their flight takes off at

2:30am. They need to wake up at 12:15am to give them enough time to get ready
and get to the airport. T ——.

What time must they wake up in 24-hour time?

—— ——

B 02:15 C 02:30 D 12:15 E 14:30

Page 16

Please go onto the next page >>>

Copyright @ StirlingTuition.com. No part of this paper may be photocopied, modified or otherwise reproduced without prior written permission.



36 What number needs to be inserted below to make the statement correct?
\3 +i13 = | 2 .
2is 2O 4 of65 L£48 = & T o = 207,

3 7 Look at the two cuboids below. A
A %,g““-' £leo

B
4cm | &

w
Aem SCmf B
4cm_’/
5cm\_y

The volume of cuboid Ais| | © |times the volume of cuboid B.

What number needs to be inserted in the rectangle above to make the
statement correct?

A 6 B 54 C 60 E 24

3 8 Terry is getting a house extension. He needs 330 metres of wood to make the roof.
He goes to the timber yard. They sell wood in 25 metre lengths.
1 3
How many lengths will Terry need to purchase? = 0L
S| 23%

A 12 B 15 D 16 E 13 He need s
oNne 7Mmore

1340 ok e
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39

Look at the pattern below. It is made up of white and black triangular tiles.

Pattern 1 Pattern 2 Pattern 3

How many more white tiles will there be in patteran in pattern 47?

A 12

B ¥ ,maﬂ S5 |6 |+ 112 (le
c 10 2 2lels/ e (3 [ g Talre ]
D 8

I[-8§= &
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4 0 Look at the circle below.

159° q |
7990 - -—q"l

What is the size of angle x?

A 21° B 163°  C 87° E 19°

4 1 Jen goes to the phone shop. She gets a contract which works out her monthly bill by
using the following formula:

Monthly bill = 12p)&number of minutes used X£3.20

In month 1 she is charged £8.24 for her phone bill.

Using the above formula, what is the number of minutes she used in month 1?

i 2Ty
B70 C12 D63 E 24 _z.20

5 .o L

oL 2
] Pl
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42

43

Dec.r-eots <
, [F/ - | ¢ © Lol
Sam is a talented 800m gdnner. —_— -2
His times have improved by 10% each year. o | £t 225
In 2022 his time was 3 minutes 40 seconds. | o

What is his time for the 800m in 20237
A 4m2s B 3m 30s D 4m 24s E 3m 58s

Sam is going on a run. His three favourite songs take him the whole distance of the

run. Below is the length of each song. (_(, ‘ 21; i
Song 1: 4 minutes 26 seconds < 3 g
Song 2: 5 minutes 35 seconds . - |
Song 3: 7 minutes 09 seconds ! C:\__: -Z g

: : (¥ ~To :
What is the total length of time the three songs play while Sam is running?

A 19m 36s m C 16m45s D 18m12s E 16m 70s
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44

45

41 = l:
ople. She has budgeted £6.30 for
at the shops.

Gemma is having a party. She is inviting 12
each person for food. She has £100 to spe

How much money will she have left ovef when she buys all the food for
everyone coming to the party, including herself?

e 6 3o
q

A £81.90 0,{‘%;!5 o “ (3

B £6.30 T el q0 T

C £75.60 Tl ¢ — +'__'f'£_97;_.
D £24.40 L5 19

wk) = G

v wktr = &

\ ij: &

+ 14

Barney the dog goes for walks every week with his owner. In week 1 Barney goes for
4 walks in total. In week 2 Barney goes for double the walks he did in week 1. In
week 3 Barney goes for % of the walks he did in week 2.

How many walks did Barney go for in total over the 3 weeks?

A 4 B 12 C 16 0 E 8
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’p\‘:‘-{OOOw\M I“)?dﬁ‘ooot [€3OMM

46 Jill measures 1.63m in height. Her son Jack is 140mm smaller than her.
- - - - - :
What is Jack’s height in millimetres? | f?ﬁ ‘3 =

[ % & © mm
A 1490 B 1.49 C 14900 D 149 E 149
47 Qe ¢35 <3 (P «tn
@fge is thinking of a number. He diwi , then he multiphes—+-by-6, finally he

13. His answer i

= <SS
What number did Reece start with? — 3
G 2

A 36 B 2 @084 E 37

Drawn
Won
Lost
2\ “
Rugby —2 o Hockey

G
The rugby team playe@ames and the hockey team played 21 games.

How many games did the rugby team lose?

A 3 C7 D 5 E 8
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|
49 =
What number is exactly halfway between 67 and 1267 s L

IQ’
A 295 B5 C875 D66 2{] 450
OA¢b-s

50

John does six practice tests over the Easter holidays.
Below are the scores he achieved for tests 1-5.

. Test1f15\.317 3‘3
e Test2=18 ~ 32
e Test3=21~ +5

e Test4=16-57F Q ©
o Test5=207

What was his score for test 6 if his mean (average) score
for the six tests was 197 -

A 27 =+ =g = 11
22 {
6

ik X
E 18 2 G
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51

52

For questions 51-56, you have to write your answers in the boxes
provided on your answer sheet. The units of measurement have been given.

Look at the grid below. Within the grid there is a rectangle.

Ef

3

What would the height and base of a triangle need to be
so it has the same area as the rectangle above?

Look at the sequence below.

b= S Lo e
(!) 1 . 5 Qg )

2 3
|+2=73 __/ 3+—5:~_g_/

What is the first and last numbers of the sequence?

[
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93

20 = £ 7.3
1S=%)-fe
) £13e
Peggy has £2 in her piggy bank in 5p coins and 10p coins.
Altogether she has 27 coins in her piggy bank.
How many 10p coins does she have in her piggy bank?
54 Nicola is heading to France to see her pen pal. She needs to weigh her luggage as

she only has a 10kg allowance for the flight. Her clothes and suitcase weigh 9.67kg
and the present she has bought weighs 326g. | ke g oooj

Is she under the weight allowancer No)

AND by what weight in grams is she over or under the 10kg weight allowance?

a q
a,rc."obb 4.( %0 Ves

— q9q96 - 0.32606 L‘_W‘A
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Page 26

09

Sarah thinks of a multiple of 12.
Its digits add to make(15 &nd it is between 50 and 140.

What number is Sarah thinking of?

Look at the function machine below:

2 28

n | x -

loxit | © °
ik |3 2 =

——— e

| 6

%,

) o

If 7 goes in the function machine above and 16 comes out what does the

missing function need to be?

2 ¢

= i &

_'—__--—-—

>

=]

END OF TEST
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